[-l*-’h'j rot
{ag f head I-'h?:)
‘gL’ @O Many fve ~vesells fov Sutar umpl 1on

SV-\oSum?’(.‘OY" \ot20LC oty cloursc?

P systemS geg

eC
N @ i
;5-:: @ Slkb.gu.mfl"oﬁ . Is Awda-bla)z Y i\iD,
R lmplmo*lon > Mok - Then, R o
:.té e e N
=5 @ Move effiaen] o nmf'l&menq:
ce?__ ’.SU.".SU.ﬂ'fL'Oﬂ
<
E_’ . .
g' rNo'fcl H”"'"’m, = = I: :,
Not fov Clourses
~

pexh C X
vt quost ovdexs.



Subsumption _ gye? clauses ( C )

[ = d

C, C
{mem(A, [A‘B]) — memgA‘[B A|C]) =1

-'_ -

A Lerk
{mem(1,[1,2]) —,mem(2,][1,2]) %}Sg«} ‘g qawac.l:t}“s

2)' ﬂ 2
Liton be Py&\[e
cvder -

Cg lhas (Dov-hal ovAer

Ls Q: Wnhen are  +mo c lacases subsume

equivaleni )



§bsume equivalenCe
Ls tf G s C, bef wh cﬂ.,.@xc.a.{'c,

Lerals Jtmotd, C"‘fcp

§ e su«)] - {?(«»\/&Cco\/racsj

L> OYAC’( oj 'ttcvd.\s |‘,n C' 4 C'L cp@a_l‘

Notr malley

{ 9@ Ve b = e NI
La' l”h&*" OLOU.‘E?

{P(':r_,'x\] -_:_)_.:. {PCI, 2), P(=, j)}

L/]D{ Coun3St \Ja‘w’“t’ 6¥e SubSume ealuwa\crd’



" Re duced cause- )

-— e o e

C s VedquA l{: e DCC St

C=D

\‘l\

Froem 'P{e\nous ey o_m(ﬂe

{F(1.1)1 Pf"!.cj)} is wet vedu ced

g_u.l— {?(1 'x_)j 1s l"r.dw:e&,
hEe L veduced



&O&* o” (PY'DCta‘U (C ‘|'0 Cove u{'a
orth _ (Cansqicd _wumbed of =

INPUT: A clause C.
OUTPUT: A reduction D of C.
Set D =C', 0 =;
repeat
Set D to D6;
Find a literal 1 € D and a substitution € such that D8 C D \ {1};
until Such a (1,0) does not exist;
return D.
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